= == > = sE A
NERRE KT ST 2 25K LK
(B FF)
18 EE 5HEE 6HEE 1HEE SHER IHEE 10AEE 1MAEE | 12A8EE 1AEE 2AERE IAEE
Frk204E | 11,003,560 10,852,066| 11,261,551] 11,005,676] 11,351,333
FrRk194E | 10,699,784 10,291,116] 10,830,719] 10,794,454| 10,936,254 10,970,902 10,693,477 11,118,589 10,777,558| 10,891,356| 10,615,808| 10,431,263
(FH)
12,000,000
= " —* $ % ¢ +/"\0——_‘\¢\,
10,000,000 [ e
8,000,000 |
CIER205EE
6,000,000 | —— FERR19FE
4,000,000 |
2,000,000 |
0
AREE SAEE 6AEE 7AEE SAZEE 9AEE 10AEE 1MAEE 12AEE 1AEBE 2AEE 3ABE




